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| Collect non-linear data,

AQ\-{\ '\'Oéos\l‘

"

7 Make a scatter plot of the data _‘t_'

3 "Fit" an equation to that data

“ Then, make predictions with the equation.

a:

" There are 8 circles.... A, B, C,

« Each group will be a set to cut.

v

find the mass of each in grapms and

record in a table in each of your notes.
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With the data from all 8 circles, each of you should
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(in a 15 second sketch) g %
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¢) Think about : What should the x- and y- intercepts be ?
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Graph the data using a Graphing Calculator

-Clear out old data (if any)
-Enter the new data
-Create a scatter plot

Write down your prediction of a
circle with a radius of 45 cm
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Decide the best type of function to
use to model the data

What type & functton”
The Mass G\QP@& on T (“:
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Make adjustments to your equation to
"fit" to the data. Y= X 2

Write down your final equation.

Use it to predict the mass of a target with
a radius twice as large as the largest
circle (circle A)

How long until the zombies take over?

On the TV show The Walking Dead, a disease was contracted that tums people into zombies or
Walkers. If the Walkers bite a human, the human is turned in to a Walker. Assume that the
each Walker turns one person a week into a zombie and that none of the Walkers are killed.

1. The diagram below represents a town with 150 people. Each box represents a human;
each filled in box represents a Walker. Keep track of the Walker and human populations
over time.
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On the TV show The Walking Dead, a disease was contracted that turns people into zombies or
Walkers. If the Walkers bite a human, the human is turned in to a Walker. Assume that the
each Walker tums one person a week into a zombie and that none of the Walkers are killed.

1. The diagram below represents a town with 150 people. Each box represents a human;
each filled in box represents a Walker. Keep track of the Walker and human populations
over time.
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